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1. 8SUDOKUSCOPE pt
Place a digit from 1 to 9 into each of the empty cells so that each digit appears exactly once in each ring
(innermost to outermost), each 9-cell sector of the target and each circle part bordered by thick lines. No digit
can be the arithmetic average of two adjacent digits above and below, or two adjacent digits left and right.
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Example

Solution

Answer format:
: 3142.For the example

Write the 9 digits in the sector
indicated by the arrow



2. 3 ptAKARI WITH MIRRORS
Draw some lamps in empty cells. . All white cells and half-cells should be lit
by one or more lamps, but no lamps can light each other. A white cell or half-cells is lit if it is in the same row
or column with a lamp and no dark cell or mirror (diagonal section) is located between them. Light changes
direction by 90° after touching the mirror. The given digits in the cells indicate the number of lamps in
adjacent cells (horizontal or vertical).

Lamps cannot be on half-cells

Example
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Answer format: . : 7Write the total number of lamps For the example .
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3. 4 pt
–

Draw a loop that passes once through the centers of all cells, and must pass straight through each circle.
The loop must cross itself in nodal circles, and does not cross itself anywhere else.

There are two types of circles Central (at the centers of the cells) and Nodal (at the nodes of the grid).

The loop consists
of horizontal and vertical segments in all cells not touching the nodal circles. The loop cannot turn in cells
with central circles.

CIRCUIT

Loop image options:

Example Solution

Answer format: Write the total number of right angle turns of the loop For the example .. : 11



4. 5BUBBLES pt
Draw some red circles of the given sizes so that they do not touch or intersect one another. The numbers
outside the grid indicate the number of completely red cells in the corresponding rows and columns.

Answer format: Write the content of marked rows from left to right, using R for completely red cells and
W for other cells For the example RRWW RRWW.. : ,
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5. 5MINING pt
Place some mines into the empty cells, no more than 1 mine per cell. Each digit shows the number of mines
in the neighbouring (even diagonally) cells. Some digits have been replaced with a ? sign – these digits must be
determined as part of solving. Black out all the empty cells. The remaining white area, consisting of digits and
mines, must be orthogonally connected. Black cells can touch each other only diagonally.
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Answer format: Write the content of the marked row from left to right and the marked column from top to
bottom. Use B for black cell and M for mine. Replace the ? signs with the corresponding digits.

: 13For the example MM1B, B1BM3B.



6. INTERSTELLAR ROUTE 6 pt
Draw s in some white cells, so that each row and column contains exactly .
Cells with s do not touch each other, not even diagonally. There should be single loop going between
the centres of all empty white cells. The loop consists of horizontal and vertical segments and cannot touch
or cross itself.

circle 2 circles (1 in the example)
circle

Example Solution

3 42 12 13 17 199 15 165 6 7 8 101 11 14 18 20

3 42 51 3 42 51

Answer format: Write the coordinates of all cells with circles in the marked rows from left to right row by
row For the example. : 4, 2, 5.



7. 3PENTOMINING pt

–
Place some mines into the empty cells, no more than 1 mine per cell. Each digit shows the number of mines
in the neighbouring (even diagonally) cells. Some digits have been replaced with a ? sign they must be
determined as part of solving. Black out all empty cells. The black cells should form a complete set of 12
different pentominoes, not touching each other even diagonally.

Answer format: Write the content of the marked rows from left to right. Use M for cell with mines, B for
black cells, and W for all other cells. :For the example MWBMWM, WBBWBM.

8. 41 pt
Fill the grid with digits from 1 to 9. Digits must be different in rows, columns and 3x3 boxes. In each circle
write the sum of the digits in the two cells touching the circle. The sums in circles cannot be repeated on any
shown line or in any 3x3 box. Circles on bold lines are considered to be part of two 3x3s at the same time.

For repeating of sums in circles, the rows
and columns of the Sudoku don't matter,
just circles along lines

SUDOKU WITHOUT SUMS

Answer format: Write the content
of marked columns from top to bottom

For the example .

.
Ignore the circles for the answer format.

: 4321, 2143
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9. 8 pt
Starting from the black square, draw a loop along the circles passing through all horizontals (they are shown
by lines outside the grid) and the verticals and consisting of fragments with ends at black dots. When moving
clockwise, the lengths of these fragments must alternate in the sequence 1-2-3-1-2-3...1-2-3 (a quarter circle is
taken as one unit of length). The loop cannot pass through the black crosses. The loop does not cross and
does not touch itself. Some loop fragments are already given.

CHAIN

Example Solution

Answer format: Write the content of the dotted horizontal line from left to right. Use fragments lengths (1, 2
or 3) and 0 for quarter circles that the loop does not pass through. : 030012230010.For the example

1 . - 14, 11, 8, 5, 20 OPTI CIRCUIT pt for the best solutions

.

Create a puzzle Circuit with a unique solution
in the 10 x 8 grid (see the rules on page 5).
Minimize the number of circles in the grid

Example

Answer format: Write the total number of circles,
and their coordinates row by row from left to right.

: .For the example 3, D3, EL, F3
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1 . 14, 12, 10, 8, 6, 4, 21 OPTI-NAMES pt for best solutions
Write 25 different letters in the circles so that along the chains you can read N puzzlers from the list. You can
use the appropriate letter more than once for each word. Names can be read in any direction, including
diagonal ones, and can intersect with each other. Maximize N.

Answer format: Write N and enter the letters of the grid row by row. Add to each letter the number
of names in the solution that begin with this letter. : .For the example 3, ORK1, A1EJ1, MIN

ALEXANDER
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BJOERN
BOGDAN
BRANKO
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KEN
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Names used:
ARJEN, JEREMI, KEN

12. 14, 11, 8, 5, 2SUBMARINES pt for best solutions
Create a puzzle Submarines with a unique solution in the 8 x 8 grid. Place 9 circles in some of the white cells.
Cirles cannot touch each other, not even diagonally. Digits outside the grid indicate the number of circles in
the corresponding row or column. Use only 1 and 2 as the given digits, and these numbers can be used any
number of times. You can also blacken N cells in the grid. Minimize (S + N) where S is the sum of all given
digits.

Example

Answer format: Write the value of (S + N).
Then write the digits above the grid from left
to right, and then the digits to the right from
top to bottom. Use "-" for columns and rows
without a digit. Finally write the coordinates
of the black cells row by row from left to right.

: 4 -1--, -2--, ., BHFor the example
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